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1101 | K48 dbimE 70 700 0 700 10 0 0 0 0 540 0
& 70 700 0 700
NB|FEFEAS [dtiEE 350 3,500 0 3,500 10 0 0 0 1,944 0 1,134
ED 350 3,500 0 3,500
12145 GhH 4 40 0 40
1141|5848 mE 4 8 0 8 2 0 0 0 0 1,512 0
GhH 4 8 0 8
1201|833 E% 89 1,335 0 1,335 15 0 0 0 2,052 0 1,296
GhH 89 1,335 0 1,335
1203| F ¥ Ay HE 70 700 0 700 10 0 0 0 0 1,026 0
BHE 150 2,250 0 2,250 15 0 0 0 1,296 0 950
E& 80 800 0 800 10 0 0 0 1,080 0 1,026
(&) 300 3,750 0 3,750
1207| & & & 380 38 38 0
1209| B & B 5 15 0 15 3 0 0 0 0 1,404 0
Eh 5 15 0 15
1301 |HF ] 14 56 0 56 4 0 0 0 1,944 0 1,404
e 50 250 0 250 5 0 0 0 2,592 0 1,296
#mE 13 78 0 78 6 0 0 0 972 0 756
[E)) 89 432 0 432
1321 |81 JbiEE 206 1,030 0 1,030 5 0 0 0 2,592 0 1,080
Bl 101 505 0 505 5 0 0 0 2,106 0 1,836
(&) 335 1,735 0 1,735
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 0 108 0
x5 150 23 0 23 0.15 0 0 0 0 108 0
x5 20 90 0 90 45 0 0 0 0 2,592 0
(&) 410 147 0 147
1353| Tk =5 60 6 0 6 0.1 0 0 0 0 184 0
(&) 60 6 0 6
1355|455 BERS 400 40 0 40 0.1 0 0 0 0 76 0
(&) 590 56 0 56
1371[L1Y x5 30 90 0 90 3 0 0 0 1,188 0 1,134
(&) 40 120 0 120
1411 BE Eh 132 58 58 0
1541 [E& EE 940 9,400 0 9,400 10 0 0 0 1,728 0 810
Eh 942 9,440 0 9,440
1603|tz)L)— [E%H 5 50 0 50 10 0 0 0 4,050 0 3,780
Eh 5 50 0 50
1609|70wal) [dtiEE 15 120 0 120 8 0 0 0 0 3,758 0
Eh 15 120 0 120
1611[LBR E% 5 25 0 25 5 0 0 0 0 2,160 0
=5 5 50 0 50 10 0 0 0 2,160 0 2,052
(&) 10 75 0 75
1612| =L 2R |EEF 10 50 0 50 5 0 0 0 2,592 0 2,268
(&) 10 50 0 50
1627[S=r=k  [dbiE5E 75 225 0 225 3 0 0 0 3,024 0 1,080
(&) 75 225 0 225
1705| T A= =40 450 36 0 36 0.08 0 0 0 0 108 0
(&) 450 36 0 36
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1803 | EHEE =) 1,100 110 0 110 0.1 0 0 0 125 0 71
& 180 36 0 36 0.2 0 0 0 71 0 66
GhH 1,730 191 0 191
1807|8E E& 150 15 0 15 0.1 0 0 0 0 32 0
f=554 1,440 288 0 288 0.2 0 0 0 57 0 49
EF 100 30 0 30 0.3 0 0 0 0 57 0
GhH 1,690 333 0 333
1809[L&HL E% 1,200 240 0 240 0.2 0 0 0 0 65 0
GhH 1,200 240 0 240
* EEET * 16,672 44,873 96 44,777
2609| B I& fa 576 202 0 202 0.35 0 0 0 702 0 594
& 576 202 0 202
2611[E4A—% [EL 2 4 0 4 2 0 0 0 0 4,428 0
fahel 16 6 0 6 0.35 0 0 0 0 756 0
GhH 18 10 0 10
2616|S<AAL _ [ELL 168 67 0 67 0.4 0 0 0 0 1,188 0
&l 312 94 0 94 0.3 0 0 0 1,080 0 972
&l 15 30 0 30 2 0 0 0 7,668 0 4,320
&l 3 9 0 9 3 0 0 0 0 11,880 0
Eh 498 200 0 200
2701|7—ILR  |8%E 1 9 0 9 9 0 0 0 0 9,180 0
Eh 1 9 0 9
2731|F K A 120 1,920 0 1,920 16 0 0 0 0 5724 0
% 258 4,128 0 4,128 16 0 0 0 7,020 0 2,160
(&) 378 6,048 0 6,048
2821 |BIER EE 654 327 0 327 0.5 0 0 0 0 486 0
(&) 654 327 0 327
* S FAET * 4,250 13,590 0 13,590




